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Spieler | Bommeln |Start-Fi.'|nfer| Schuldenl Neu | Summe I Gezahlt I Offen |
Alfred 0® 00 00| _ .. e 2y | _
Pkt. Alt: 2 ®® 00 00 ?;f- i%' <40 66’ 2’|" (-f'ZS / 315?‘
Pkt. Neu: L{' 15— f
Ali 60 00 oo, G, 1O o
pke.Al: 2. |0 00 00 j 53'/ 05| A, — ‘Sé’//{J 5—?/ - +OI8§
Pkt. Neu: b )

Henry o9 00 00|, &, 7o s
a7 |00 00 oo 4% /3| 1,— {5(.3)0 0= 3(573
Pkt. Neu: 8
Kotschi @0 00 00, ST - 90 e
Pkt.Al: 7~ |00 00 0O} 234,49 Z39,<YJ ~ LKS/(YJ
Pkt. Neu: “f~ .
Mike oe 00 00|, T .
pear & |@w@ 00 ool &/ 28 3| by — U 22
1 [ | ;

Pkt. Neu: 3
Stahli ®0 00 00|, C o T _
Pkt. Alt: 00 00 00| | 5,99 S(" /1,- I A0 - +5'<37/]
P i o4 L s ™
Wotan 00 00 00|, .~ S,
pkt.Al: @ |00 00 0O f-?ﬁ:’;; 29 88 3“/’,&37 / 3“(,&3’
Pkt. Neu: (O ;5/ W _j{ ¢
Offene Bockrunden: 1
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